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fiRE 7| (\HEE3H)
[fg 21 ©12,950TH ®@112,800THM
[Fd =] HK6m
[fig #] (BAL . FM)

1 AfbRER
(1) #rEwes
(% F M FE F 900 (8)  AMEFEHEMmELRS 900  (*1)
(1)  ATHIRIRAG23, 100 —Ff3R 24, 000=A900 = 900
(2) RAEEMRSOER (GEE BMAMiER—Z O MiiEs)
() AHMEHFEMELE 2,100 1) (B F M 7 %K 2,100
() H&HMIEHF 21,900 2) &) FH M FE ZH* 21,900
(1) IRERIRFIRA21, 900 — MR {E{i%E24, 000= A2, 100 = 2,100
(k2)  REEREE(D
(3) PhrRE
() #% & F ik % 600 (8)  tofEEEsTIEEs 600 (1)
(x1) LHIRIFH22, 500 — IR M1, 900=600

2. BththfE
(1) FEHIE
() #% & F ik % 25 (&) A0k % F & 25 (¥1)
(&) B & H & 9,900 & Al FE %& 9,825 (x2)

B R AR 75
(k1) (BEM4A%EL0, 000— EREHEE9, 750) +54E X6 A (% 3. 4/1~ x3.9/30) /12H =25
(x2)  SEHNRHEHNGAL © BRASAARO, 750 + B E HIEH50 (+3) + 4 HIE HIEH25 (x1) =9, 825
(*3)  (FAMAAAL0, 000 — BUSMiZE9, 750) +54-=50
(2) RE BB OEE GHIRA B B0EH—Z OMAFMiRES)

() & & F i ik % 25 (&) A i 5k & F B 25 (1)
(ff) # & FMisE % 9,825 ®E F G % 9,825 (x2)
- DA i - - W R B A -

(1)  (FEHm4%H10, 000 — B9, 750) + 54 X6 H /12H =25
(x2)  IRERIFEREA . BUSMERY, 750+ AiTHEAE HNIZES0 (+3) + Y4 HAMEHIZA25 (x1) =9, 825
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(3) YRR
& H & #H £ 300 (&) A i iE % 5 B 300 (x1)
() & A M FE % 25 (8) F i 5 % Fl B 25 (%2)

)  rotFEEHTIAES 150 (x3) (&) #& & A i ik % 150
(1) 10, 000 X KIEF|F=& 3% =300
(x2)  (FHEAFE10, 000— BUSMi%E9, 750) ~54E X6 7 (% 3. 10/1~ x4.3/31) /12H =25
(£3)  YHIRKEM9, 700 — HRME AR, 850 (+4) =A150 = 150
(+4) IREBEEINRIEI, 825 +{EXN%E25 (*2) =9, 850

3. CH:pR=K

(1) FEHIE

(f§) B & 7T 4 200,000 (1) (&) B4R =4 HKK 150,000 (k2)
Btk EAEE 50,000

(1) @40 X5, 000kk=200, 000
(*2)  @30(=180, 0006, 000%K) X 5, 000%k =150, 000
(2) ARG OEE (FREHA—Z Ot A LIRS
‘ () # & F/ i 5E % 30,000 (1) (&) B4R =KX 30,000 ‘
(1) IRERHRIRSE%E : 180, 000—F2#1150, 000=30, 000
(3) PhrRE
| mEAMESE 12,50 (D ZOWFEEEHIEEE 12,500 (D) |
(k1) Y HIRIFG42, 500 — IR H%E30, 000=12, 500

4. DfE#R
(1) #rEwes
)  rotFEEHTIAES 250 (x1) (%) #& & A i ik # 250
(1) RiTHAREEG9, 050 — IR & {H%HS, 800=250
(2 BREBEHIRSGOER
SREVIEEEE i
| (B BMEAfEA 104,00 ) 6D B & B & 104,000 |
(x1)  @26X 4, 000kk=104, 000
- (RH HIX S DL (F DA — BRS g R)
‘(F&) BIfe = btk 8,800 (x1) (B & E A lisE % 8,800 ‘
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